LONLLY
e

@ADRIeIY)

B

Il 72
§ 40nRURg
S &4

H—a
(SIIWISPAIIN) YsHILT
WGP TGN L-T [
wneyan snang _.J_

ALY S

| A0tARYHeq

GONLAF
—~TqA80

—CHAED <

e

BURGLIR IO A

75

W jSeptithu
SuOjsucas

X AOINEG R

=\ SuyGeIlelouD) - Pafliiny

13



1
1:<tml version="1.0" encoding="UTF-8" ?>{ChoregrapheProject xmlns="hiin:/ ‘vw. aldebaran-robolics. com/schema/ I:I
choregraphe/project, xed” xar_version="3' >¢Box nmame="root’ jd="-1' Jocalizalion="8" {ooltip="Rool box of
Choregraphe&a 0s;s behavior. Highest level possible.” x="0" v="0"><bi{mapy !ﬂEdlﬂ/llﬂﬂgES/bDX/IOOl png(/hltmap)(scnpt
language=" 4" ><{conieni><! [CDATA%]]\</c0nlent></scr1pt>§]npul name="onLoad" lype="1" type_size="1" nature='(’
inner="1" tooltip=" Signal seni when diagram is loaded.” id="1" /><Input name="onS{art’ Lype="1" t;ype size="1"
nature="2" inner="0" tooltip="Box behavior staris when a signal is received on (his inpul.” id="2" /><Inpul
name="onStop" tvpe="1" {ype_size="1" nature="3 mner "0" toollip="Box behavior stops when a sienal is received on
this inpul.” id="3" /<0uipul name="onstopped’ type="1" lype size="1" mature="1" imner="0" foollip="A v 72
Behavior D TIRICER =%5. " 1d="4" /> <T1me1me enable=" 0 ><Behav:or[,ayer
name="behavior_layer!’ >Behaviorlieyfrane name="keyframel” index="1"><Diagram /></BehaviorKeyframe}</BehaviorLayer><
/Timeline></Box></ChoregrapheProjeci’
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[:<%xn] version="1. (" encoding="UTF-8" ?><{ChoregrapheProject xmlns="hi(p: /www aldebaran-robolics. con/cchena/
choreeraphe/projeci. xed” xar_version="3" >{Box name="rool” id="-1" localization= 1ip="Rooi box of

Chnregraphg&gggs;s behavior. Hiﬁhest level possible.” x="0" y="0"><bi{map;media/images/box/root: png</bitmapy<script

 language=" 4" ><conteni><! [CDATA[]] »</content</script><Inpul name="onload" iype="1" iype_size="1" mature='("
inner="1" tooltip="Signal senf when diagran is loaded.” id="1" />{Inpul name="onStarl" (ype="1" Lype_size="1
nature="2" imner="0" foollip="Box behavior siaris vhen a signal is received on {his inpul.” id="2" /><Input_
name=" onStop" Lype="1" type_size="1" nature="3" inner='0" {ooliip='Box behavior siops when a signal is received on
{his input.’ id='3"_/>Oulput name="onStopped” {ype="1" {ype size="1" nature="1" imner="0" foollip="Hw 72
Behavior®i TIHZE S 2185, * 1d="4" /><Time]ine enable=" 0" »(Behaviorlayer Aot
name=" behavior_layer1” >(Behaviorkeylrame name="keyframel’ index="1"><Diagram<Box name="Sei Language’ id="2
localizalion="8" loollip="Set Lhe language of your robot for the current application. Your robot will speak and
understand the selecled language as long as your applicaiion has focus. Any following call (o ALSpeechRecognition
(Speech Reco. box for instance), ALTexiToSpeech (Say box for inslance) or ALDialog will use {his language. £x0A;
x=" 260" v='237'><hitmafl)-med1a/1mages/box/inieract10n/sa¥. png/bitmap><scripi language="4"><conient><! [CDATA[class
MyClass (GeneratedClasg) :

2 rider e | S (se )i e

i: GeneratedClass. __inil__(self, False)

g: def tIJnLoad (self).:
: ry:

T sell. Us = ALProxy (" ALTex{ToSpeech")

8: excepl: y : ; :

9: self. logger. varn (" ALTex{ToSpeech is not available, lenguage seiting canmol be applied fo specch’)

{[1]: self. {{s = None

12: {ry:

13: sell. asr = ALProxy (" ALSpeechRecognition')

14: except: ol : ;

16: s sell. logzer. warn (" ALSpeechRecogniiion is nol available, language selling cannol be applied to
recognition”)

16: self. asr = None

17:

18: fry: . ‘

19: self. dialog = ALProxy (ALDialog")

20: except: : ! ;

21 self. logger. warn ('ALDialog is nol available, language seiling cannoi be applied (o dialog’)

%g: self. dialog = None

a.

24:  defl onlnpui_onSel (self) :

25: lang = sell. getParameter ("Language”)

26: R s

ol if self. asr: ;

28: sell. asr. seilanguage ( self. geiParaueler (' Languaze') )

29: if self. {ts: :

80: . self. t1s. seilanguage ( self. ge(Parameier (" Lanzuage”) )

31: if self. dialog:

32 . self. dialog. selLanguage ( self. ge{Parameler (' Language”) )

35 if self. tts is None and self. asr is None and self. dialog is None: W

o ! raige RuntimeError (" Cannol sel language: neither ALTex{ToSpeech nor ALSpeechRecognilion nor
ALDialog is available.”)

35! sell. onReady ()

36: excepl: : :

3l error = "Language " + lang + ° cannol be set.”

38: self. Togger. warn (eryor) R e _ :

59: self. opError (error)] ] </conlent </script <Inpul name="onLoad” {(vpe="1" type_size="1" nalure='(

inner="1" {oollip="Siznal sen{ when diagrem is loaded.” id="1" /»<Inpul name="onSei” type="1" lype_size="1"
nature="1" inner="0" {ooltip="The daia is sei when a signal is received on {his imput.” id="2" />Duipul 0
name="onkeady” type="1" {ype_sije="1" nalure="2" imner="0" {oollip='Signal seni when ihe dala has been sel.’ id="#'
/0uipul name="onError” type="5 {vpe_size="1" nalure="2" imnner="0" {ooltip="Error oulpui:&§x04;- (rigeered if
the Janguage agked canmoi be seil” id="4" /<Parameler nape="Language” inherits_from_parent="0" conteni_iype="4"
value="English’ defauli _value="English” custom_choice="1" {ooltip="Sel (le language (he robol speaks and
understands. ” id="5"><Choice value="Arabic’ /;<Choice value="Brazilian’ />(Choice value="Chinese” /:<Choice
value=’ Czech’ /»<Choice value="Danish’ />(Choice valne="Dulch” /><Choice value="Englich’ /><Choice value="Finnich’
/7<Choice value="French” /><Choice value="German” /»<Choice value='Greek” /><Choice value="I{alian’ /><Choice
value=' Japanege’ /»<Choice value="Korean’ /y<Choice value="MandarinTaiwvan’ /<Choice value='Norvegian’ /<Choice
value="Polish’ />Choice value="Poringuese’ /><Choice value="Russian® /»<Choice value=" Spanish’ /><Choice
value="Swedisk’ /»<Choice value="Turkish® /»</Parameier<Resource name=' Speech” {vpe='Lock’ (imeou(="0" /»</Box></
Diagram-</Behaviorleyirame></BehaviorLayer</Timeline </Box</ChoregrapheProject,
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1:<?xml version="1.0" encoding="UTF~ 8 ?><ChoregraphePr01ect xmlns- hitp:/ v je <che
choregraphe/projec(, xed’ yar_yersion=" 3" ><Box mame="rool’ id=" locallzatlon- § looltlp— Rool box of
Choregraphe&agos ;s behavior. Highest level possible.” x="0° v=' 0 ><b1tmap>med1a/1mages/box/rnot png(/h11map><scr1pt
language=" 4" »(content <! [CDATA[)] ></content></scrint><Input name="onLoad" type="T' iype_size='1" nature="(’
inner="1" tool Lip="Signal senl when diagram is loaded.” id="1" /><Inpul name="onSiart’ Lype="1" Lype _size="I"
nature="2" inner="0" {ooltip=" Box behavior starts when a 51gnal 13 received on this input.” id="2" /5<Inpul
name='on8[op Lype="1" type_size="1" nature="3" inner='0" toollip="Box behavior stops when a signal is received on
this input.” id="3" /><Output name "onSlopped” type=" | iype_size="1" mature="1" inner="0" flooliip=""4v 7%
Behav10r09$§'Tﬂ#I’fi§%f:i£25° =" 4" />CTime]ine enable="0 ><BEhaVlOILﬂYBT
name=" behavior_layer1’ ><Behav101Keyframe name="keyframel” index="1">{Diagram><Box name="Set Language’ id="2"
localization="§" {oollip="Sei the language of vour rebol for t(he current applicalion. Your robol will speak and
understand the selected language as long as vour application has focus. Any {ollowing call lo ALSpeechRecognltlon
(Speech Reco. Dbox for instance), ALTexiToSpeech (Say box for instanmce) or ALDialog will use this language. E4x0A;"
x="260" y="237" ><b|tmar\med1a/llageS/box/1nleractlon/say pngé/bitmapy<script language=" 4" >{conieni>{! [CDATA[clags
MyClass (GeneratedClass

2:  del _init_ (self):
2: GeneraledClass. __init_ (self, False)
gf del onLoad (self) :
7 Iy:
it self. {1s = ALProxy (' ALTexiToSpeech’)
§: excepl: !
9: self. logger. warn (" ALTextToSpeech is nol available, language seiling cannol be applied Lo speech’)
i?: self. (1s = None
12: {ry:
135 self. asr = ALProxy (' ALSpeechRecognition”)
14: excepl: !
15: sell. logzer. warn (" ALSpeechRecognilion is not available, language seifing camnol be applied {o
recognifion”)
? sell. asr = None
8: Tv:
9: self. dialog = ALProxy (" ALDialog")
0: except: :
1 self. logzer. warn (" ALDialog is nol available, language seiling caunol be applied to dialog’)

TN DD ek bk bk et

20 self. dialog = None
94:  def onInpul_onSel (self):

25: lang = sell. gelParameier (" Language”)

26: SRR

AR if self. asr:

28: .. self. asr. seilanguage { sell. geiParamefer ("Language”) )

29: if self. (1s:

30: self.lls.seiLangnage( self. gelParameier (" Langnage”) )

31: if self. dialog:

52: . cell dialog setlanguage ( self. gelParameter (' Language”) )

35 if self. tis is None and self. asr is None and self.dialog is Nomne:

54: { raise RunlimeError (" Cannol sei language: neiiher ALTex(ToSpeech nor ALSpeechRecognition nor
AlDialog is available.”

ah: celf. onReady ()

a6: except:

SIS error = "Language " + lang + “ cannol be sef.”

38: self. logger. warn (eyror) : ) ;

39: self. onkrror (error)1]></content></scrip><Input name="onLoad" type=" 1' lvpe_size="1" nature='(’

inner=‘l Ionli:p— Signal seni when dlagnwm is Joaded.” 1d="1" / <Inpul name=" onSel” lspc* 1" (ype_size=" I’
nature="1" inper="0" tooltip="The dala is sel when a signal is received on this inpui.” id="2" /) Tuiput
name="onkeady” {lype="1" {ype_size="1" nalure="2" inner=" 0° tooliip="Signal seni when ihe data has been sel.” id="3"
/o<0uiput name=" onError” ivpe=" 8" 1Vpe size=" 1" nature=" 2" inner=" 0" { tool Lip="Error oulpui:&ix04;- (riggered if
{he language agked camnol be sel” id="4" />CParameler name="Language” inberils_from_parent="0" confeni_{ype=" 8" -
value="Englich’ defau!i _value="English’ custom_choice="1" {ool{ip="Set (he language {he robol speaks and
undersiands.” 1d="5"><Choice vaiue- Arabic” /<Choice value="Brazilian® /><Choice value="Chinese” /><Choice
value=" Czech” /> (ho[ce value="Danish’ /-<Choice value="Duich” /><Choice value="Englich” /><Choice value="Finnich’
/"Cholce value="French’ /><Choice value="German’ /,<Choice value="Greel" /><Choice value="I(alian® /;<Cloice
value= Japanege’ /,<Choice value="Korean' /><(hoice value=" Mandar inTaivan’ /< (hoice value="Norvegian® /,<Choice
value="Polish’ /<Choice value="Poriuguese’ /><Choice value="Russian” /<Choice value="Spanish’ /><Chojce
value="Swedish” /»<Choice value="Turkishk’ /»</Parameier) Resource name= “Speech” lype="Lock’ (imeout="0" /»</
Boxo<Link inputiowner="2" rud3}oilnpul— 2" oulpulovner="0" indexofouipui="2" /></Diagram></Behaviorlieylramey</
LehaviorLayery</Timeline></Box </ChoreerapheProject >
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\\l
1:<txml version="1.0° encoding="UTF-8' ?»{ChoregrapheProject xmins="hi(n:/ /wew, aldebaran-1ohofjcs con/schena/ tzg;\
choreeraphe/proiect, xeq” xar_version="3'>CBox mame="root” id="-1" Tocalizalion="§ (ool{ip="Roof box of
Choregraphedapos;s behavior, Highesl Jevel possible.” x="0° y='0'><bilmapymedia/images/box/root. png</
bitmapyCscript language=' 4 >{conten{><! [CDATA [1]></conient></script><Inpul name=" onLoad” iype="1" {ype_size=" 1
nature=" 0" imer="1" fooltip="Sienal sent when diagram is loaded.® id="1" /><Inpul name="onStar(’ {ype='1" = .
type_size=" 1" malure="2" inner="0" tooltip="Box behayior siarls yhen a signal is received on ihis input.” id="2" /
>¢Input name="onStop” lype="1’ l;ge_s11e= 1" nafure="3" imner="0" fooltip="Box behavior stops when a signal is
received on this inpul.” id="3" /><Oulpui name="onSiopped” type="1" t§pe_512e='l' naiure="1" imner="0" foollip="
Ay 7 ABehavior Dt TIFICERZES. * id="4" />}Tineline enable=' 0" <Behaviorlaver
name="behavior_layer]” ><BehaviorKeyframe name="keyframel® index="1"><Diagram>{Box name="Set Language’ id="2"
localization="8" looltip="Sel the language of your robol for the current application. Your robol will speak and
undersiand the selecled language as long as vour application has focus. Any following call to ALSpeechRecognilion
(Speech Reco. box for instance), ALTexiToSpeech (Say box for instance) or ALDialog will uge {his language. &4x0A;"
x= 260 v='237'><b1tma¥>med1a/1mages/box/inleract1on/say.png(/bilmap}(scripl language="4">Cconlent><! [CDATA [c]ass
MyClass (GeneratedClass

2:° def . linitii(sel):
3: GenerafedClass. __init__(self, False)
b:  def onLoad (self) :
: fry: ;
T self. {11s = ALProxy ( ALTex{ToSpeech’)
§: excepl: - ‘ g
9: sell. logger. warn (" ALTex{ToSpeech is not available, language selling cannoi be applied {o speech’)
%?: seff. t{s = None
125 try:
13: self. asr = ALProxy (" ALSpeechRecognilion”)
14: except: e R
15: ., gelf. logger. varn (" ALSpeechRecognition is nol available, language seiling cannol be applied fo
recognition”)
16: sell. asr = None
17:
18: Lry: ; ] :
19: seli. dialog = ALProxy (" ALDialog’)
20: excepl:
Tl sell. logger. warn (" ALDialog is nol available, language setling cannot be applied {o dialog’)
%g: self. dialog = None
24:  del onlnpul_onSel (self) : :
%g: }ang = sell. gelParamefer (" Language”)
: Iy
aT: if self. asr: :
28: self. asr. seilanguage ( self. geiParameier ('Language”) )
29: il self. {ls:
50: . self. t1s. seiLangnage ( self. getParameler ( Langnage”) )
51 if self. dialog: :
82 . sell. dialog, seilanguage ( sell. getParameler ( Languaze’) )
53 if self. {ts is None and self.asr is None and self. dialog is None: o
o4 . raise RuntimeError (Cannol set language: neither ALTex{ToSpeech nor ALSpeechRecogniiion nor
ALDialog is available.”)
a6 self. onReady ()
a6 excepl: ;
S error = “Language " + lang + ° camnol be gel.”
ab: seld. logger. varn (error) : S : ; {
4 self. onError (ervor) 1]></contenty</scripl><Jnpul name=" onLoad” {vpe="1" {vpe_siy

"

: e="1" naiure="("
inner="1" {oollip="Signal seni when diagram is Joaded.” 1d="1" /><Inpul name="onSel” ivpe="1" type size="1"
nature="1" imner="0" {ooltip="The dafa is el when a signal is received on this input.” id="%" /><Duipui
name=" onReady” {vpe="1" (ype_size="1" nature="2" immer="0" foollip="Signal senl vhen (he data has been sel.’
id="3" /><Ouipul newe="ouError’ type="3" {ype size="1" nature="2" inner="0" foollip="Error ouipu:&4x04;-
iriggered if ihe language acked cannol be set” id="4" />Parameier name='Language” inherits_{rom_pareni=" ('
conleni_type="3" value="Engljsh’ defaul{_value="English’ cusiom_choice="1" tooliip="Sel the language {he robot
speaks and understands.” id="5"><Choice value="Arabic" /><Choice value="Brazilian” /><Choice value=' Chinese’ /
»<Choice value="Czech” /><Choice value='Danish’ /<Choice value="Duich’ /»<Choice value= English” /»<Choice
value=' Fimnish /-<Choice value='French” /><Choice value="German” /><Cheice value="Greek’ /><Choice :
value=’ ltalian" /»<Choice value="Japanese’ /><Choice value= Korean” /><Choice value="MandarinTaiwan’ /»<Choice
value="Norvegian® /><Choice value="Polish” /><Choice value=Poriuguese” /»<Choice value= Russian” /><Choice
value= Spanish” /><Choice value=" Swedish” /<Choice value="Turkish® /y</Parameier <Resource name=" Speech’
type="Lock’ timeou(="0" /»</Box<Box name="Say" id="1" localization="8§" Looliip="Say some {exi. The {exl can be
localized.” ¥=" (46" y="511" »<bitmapsmedia/images/box/inferacion/say. pne</bitnany<seript language=" 4" ,<content><!
[CDATA [impori {ime

40:
41:class MvClass (GeneraledClass) :
4% def __inii__ (self):

2[5l GeneratedClass. __init_ (self, TFalse)

44: self. i1s = ALProxy (' ALTexiToSpeech’)

45: i self. tisStop = ALProxy (' ALTex(ToSpeech', True) #Creale asnother proxy as wait is blocking if audioouf is
remoie

46:

47: def onLoad (self) :

43: self. bIsRunning = False

49: self. ids =[]

50:

51:  def onUnload (self) :

b2 for id in self. ids:

b3 try: -

54: self. (isSiop, stop (id)

L excepi:

56: ; pass

57: while( self. bIsRunning ) :

Eg: Lime. sleep( 0.2 )

60: def onlnpui_onStart (self) :

82



?elf.hlsRunning = True
[1y:
senience = "¥RSPD="+ sir ( sell. getParameler (' Speed (%)") ) +
senience += "¥VCT="+ sir( self. getParameler ("Voice shaping (%) ) ) e
senience += selfl. ge(Parameter (" Tex(")
sentence += “¥RST¥
id = sell. {is. Dnsl say(sir (sentence))
sel{. ids. append (id)
self. t1s. wail (id, 0)
finally:
try:
self. ids. remove (id)
excen[

if ( selr ids == [] )
self. onStopped () 3 aclivale ouiput of the box
self. bIsRunning = False

de

—

onInpui_onStop (self) : ;
self. unﬂn!oad()]]></c0nleni‘(/scr:p1)<luput name="onLoad” type="1" ivpe_size="1" nature='0

"

inmer="1"

'loulllp- Signal senl when Diagram is loaded.” id="1" />(Inpul name="onStarl’ ivpe="1' {ype_size="1" najure="2’

inner="0" {oollip="Box behavior staris whep a s:gnal is received on this Input.” id="2" />{Inpui name="onSiop”
Lyne="1" type_size="1" nalure="3" immer="(" {ooltip=" Box behavior stops vhen a signal is received on this Input.”
id="3" /><0ulpui name=" onSiopped {ype="1" lype_ size="1" nature="1" inner="0" looltip="Signal sent vhen Box
behavior is finished " id= /\&Palameler name= “Yoice shanlng (%)" inherits_from_pareni="1" contenl_type="1"
value="100" defauli_value=" iUO min="50" max="150" Loolilp" Used 1o modify al runfime ihe voice fealure (lone,
speed). In a slighiy&dx0A;different way than pitch and speed, il gives a kind of &quol;zender or agetix04;
modificaliontquol; effect. &ix0A;&4x0A;For instance, a quiie good male derivaiion of female voice can be&dx0A;
obiained seiling {his parameier (o 76%. &430A;&#x04;Rote: For a belier effect, you can compensale this parﬂme[el
wilh the&#x0A;speed parameier. For example, if you van{ (o decrease by 20% ihe voice&ix0A; shaping, «vou will have
{o increase by 20§ ihe speed fo keep a conslani&fx0A;average speed. * id='5" /\<Parameler name=" Speed (%)*
inherits_from_pareni="1" confent_{ype="1" value="100" defauli_value="100" min="50" max="200" {oollip="Changes ihe
speed of Ihe voice. £4%0A;&ix0A:Nole: For a beiter effect, vou can compensate (his parameler with {lie voicelix0A;
shaping parameier. For examn]e if vou wan{ {o increase by 90% lhe speed, voukix0A; Will have o decrease by 20%
the voice shaping {o keep a consianl average&ix(A;speed.” /><Parameler name="Texl” inherits_from_pareni="0"
confent_ tvpe 5 value="Hello" defauli_value="" f(ool(ip=" The 1exl you wanl fo say. Dun&wpns 1 forgel fo_translafe

itl" id="" /></Boxy<Link inpulowner="2" indexolinpui="2" oulpuiowner= 0" indexoloutpui="2" />¢/Diagran></
Bchav101he3f1dme </BehaviorLaver </Timeline,</Box></ChoregrapheProject>
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i)\(

1:<txnl version="1.0" encoding="UTF-8' ?>{ChoregrapheProject xmlns="}i(p://vus alde obofjcs, com/schema
choregraphe,/project. xod” xar_yersion=' 3" >(Box name="root’ -id="-1" Jocalizaiion="§ tooIfip="Roof box of
Choregraphekapos;s behavior, Highest level possible.” x="0° y="0"><biimapymedia/images/box/rool, png</ / 0
bitmapy{seript language=" 4" >{content><! [CDATA [}1]></conlent></script><Inpul name="onLoad’ {ype="1" lype_size="1
nature="(0" imner="1" toollip="Signal sent when diagram is loaded.” id="1" /><Input name="onSiari® {ype='|"
type_size="1" nature="2" imner="0" foollip='Box behayior slarts when a signal is received on this input.” id="2" /
»{Inpul mame='onStop’ {yve='I" type size="1' nature="3" immer='0" fooltip="Box behavior sfops vhen a sigmal is
received on ihis input.” id="3" /><Oulput name="onStopped” {ype="1" {ype_size="1" nature="1" inner="0" (oollip=
w7 ABehavior Dt TIFICEZ %25, ° id="4" /><Timeline enable=" 0" >{Behaviorlayer R
name="behavior_layerl” ><Behaviorkeylrame name="keyframel” index="1"><Diagrau>{Box name="Sel Language’ id="2
localization="8" (ooltip="Sel the language of vyour robot for the curreni application. Your robot will speak and
undersiand the selected language as long as your application has focus. Any Iqllowing call to ALSpeechRecognit ion
(8peech Reco. box for insiance), ALTextToSpeech (Say box [or instance) or ALDialog will use this language. E4x0A;
x=" 260" y= 237"><bilmagﬁmedla/:mages/box/interacl|on/sa‘y. pngd/biimap><scripl language="4">Cconlent><! [CDATA [class
NyClass (GeneraiedClass

defiasnifui(se TEo . ‘

GeneratedClass. __inil__(self, False)

de{l onLoad (self) :

iry:
: 5%11. its = ALProxy (" ALTexiToSpeech’)
excepl:
selfl. logger. warn {" ALTex{ToSpeech is nol available, language sefling cannol be applied fo speech”)
self. i1s = None

LY
silf.asr = ALProxy (‘ ALSpeechRecognition”) :
excepl:
; .., sell logger. varn (" ALSpeechRecognition is nmoi available, language seiling cannol be applied lo
recognition”) ;

} self. asr = None

1 iry:

1 sell. dialog = ALProxy (" ALDialog")

2 excepl: § Y ) ey

2 self. logger. warn ("ALDialog is not available, language setling cannoi be applied o dialog’)

22 self. dialog = None

P

24:  def onlnpui_onSel (self): ;

25: lang = sell. ge{Parameier (" Language”)

26: lry:

21 il sell. asr: 2

28: cell. asr. setLanguage ( sell. getParaneier (' Language’) )

29 il seli:its:

50: self. tis. seilanguage ( self. getParameier ( Language”) )

a1 if self.dialog: : :

32 . self.dialog, sellangnage ( self. getParame(er (' Lunguage”) )

531 il self. tls is None and sell. asr is None and self. dialog is Hone:

St raise RuntimeError (Cannol set language: neiiher ALTexiToSpecch nor ALSpeechRecognition nor
ALDialog is available.”)

09 self. onReady (

36: excepl: :

at: error = “Language " + lang + ° cannol be set.’

a8 sell. logger. warn {eryor). bt LT

390 .., sell.onError (error) 110</content</seript<Inpui name="ouLoad” tvpe="1" type_size="1" nature="("
inper="1" tooltip="Sienal sen{ when diagram is loaded.” id="1" /><Iupul name="onSe(’ (ype="1" {ype_size="1"
nature="1" inner="0" {ooltip="The daia is sel when a signal is received on this inpui.” id="2" /><Oulput
name=" onkeady” lype="1" t{ype_size="1" nature="2" inper="0" toollip="Signal senl when {le dala has been sei.”
id="8" /Ouipul name="onError’ ivpe="3" (ype_size="1" nafure="2" inner="0" {ooliip="Error ouipul:&$x04;-
Iriggered if [he langusge asked camnol be sel” id="4" /><Parameier neme="Language” inheriis_{rom_paren=" ('
confeni_type="3" value= English’ defaul(_value='Enalish’ cusiom_chojce="1" toollip="Sei {he language (he robot
gpeaks and undersiands.” id="5"<Choice value="Arabic® /><Choice value="Brazilian® /<Choice value="Chinese’ /
Choice value="Czech” /-<Choice value='Danish’ /><Choice value='Dufek” /><Choice value='English’ /><Choice
value="Fimnish’ /»<Choice vaJue= French® /><Choice value="German’ /><Choice value="Greek’ /><Choice /
value=' Ilalian” /,<Choice value="Tapanese’ /;<Choice value='Korean /><Choice value="MandarinTaiwan" /»<Choice
value="Rorwegian® />Choice value="Polish” /-<Choice value="Por{uguese” /-<Choice value="Russian” /><Choice
value="Spanish” /><Choice value="Swedish” /><Choice value='Turkish® /,</Parameler <Resource name=" Speech’
{vpe="Lock” lipeoui="0" /»¢/Box»<Box name= fay’ id="1" localization="§" {ool{iip="Say some {ex(. The iex{ can be
localized " x=" 646" y="511"><biimapmedia/images/box/interaclion/say. pngd/bilmapy<seript language="4">Cconieni <!

o (CDATA [impor{ {ime

41:class MyClass (GeneraiedClass) :

42:  del _inil_ (self):

43: GeneraiedClass. __inii__(celf, False)

44: self. t1s = ALProxy (' ALTex|ToSpeech’)

45: self. i1sStop = ALProxy (' ALTex{ToSpeech’, True) #Create another proxy as waii is blocking if andiocui is
Temoie

46:

47:  def onLoad (self) :

48: sell. bIsRunnjng = False

49: self. ids = ]

n
1: def onlnlead (self) :
/ for id in self. ids:

5

5

5

53 IV

54: self. 11sStop. stop (id)
55: . excepl;
56

5

5

5

f

pass
vhile ( zelf. blsRunning ) :
{ime. sleep ( 0.2

def onlnpui_onStart (seli) :
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ielf.blskunning = True
1y:
senlence = "¥RSPD="+ sir( self. gelParametler (" Speed (%)") ) +
senience += "¥VCT="+ sir( sell. geiParameier ("Voice shaping (%) ) IS e o
senlence += self. gelParameter (" Text")
senlence += "¥RSTH "
id = self. (ts. post. say (sir (sentence))
self. ids. append (id)
self. Lis. wait (id, 0)
{inally:
try:
self. ids. remove (id)
xcept

if ( seif ids == ] ):
self. cnStoppede ¥ activate outpul of ihe box
self. bIsRunning = False

i

def onlnpui_onStop (self) : . i
self. onlUnload 0]]></conien1></scr1pl\<lnpul name="onLoad’ type="1" iype_size="1" nature=" 0’ inner='1l

'loultlp Signal seni vhen Diagram is loaded.” id="1" /><Inpui nawme="onSiart" (ype="1" {ype_size="1" nafure=" 2"

inner="0" ioollip="Box behavior slarls vhen a signal is received on (his Input.” id="2" /> Input name=" onStop”

lvpe- 1 Lype_size="1" malure="3" inner="0" {oolijp=" Box behavior stops when a signal is received on this Input.”

id="3" />0uipul name= anlnpped iype="1" iype_size="1" nalure="1" imner="(" tooltip="Signal sent when Box
behavior is finished.* id /\( argmeler name= " Voice shaping (%)" inherits_from_parent="1" conlent_iype="1
value="100" default value- 100 min="50" max="150" {oollip='Used {o modify al runtime the voice fealure (ione
speed). In a slighly&dx0A;different way than pilch and speed, il gives a kind of &quol;gender or ageix0A:
modificationkquol; elfect. &ix0A;&4x0A;For inslance, a quile good male derivalion of female voice can bedix0A:
obtained selting {his parameler {o 78%. &4x0A:&4x0A:Nole: For a beller effecl, you can compensaie ihis parameler
with thet#x0A;speed parameter. For example, if you vanl lo decrease by 20% the voice&ix0A; shaping, vou will have
to increase by %0% (he speed (o keep a conslani&ix0A;average speed.’ id="§" />CParameler name="Speed (%)’
inherits_from_pareni="1" conteni_type="1" value="100" defaul{_value="100" mln— 50" max="200" (ooltip="Changes the
speed of the voice. &4x0A;&4x0A;Nole: For a better effect, you can compensale this parameier with the vo:ce&#xﬂﬂ

shaping parameler. For example, if you vani lo increase hy 20% the speed, youkdx0A;will have lo decrease by 20%

{he voice shaping (o keep a consiant average&dx0A;speed.” id="6" /><Parameier name="Tex(” inherits_from_parent="(0"
confeni_type="5" value="Hello’ defaull_value="" {ooliip="The [emt vou want (o say. Donfapos;! forgel {o {ranslafe
itl" id="7 />4/Box<Link inputowner=" 2" indexofinpui="2’ oulpuiuwner 0° indexofoutpui="2" /><Link

inputowner="1 Indexofinput="2" nuipu[u“nel‘ 9" indexofoutpui=" & /></Diagram></Behaviorkeyiranes</BehaviorLaver

/Timeline></Box></ChoregrapheProjeci>
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<Txml version="1.0" encoding="UTF-§" 1{ChoregrapheProject xmlns="lii(v:// alde nlics. sche
choregraphe/project, xed” xar_version=" 3" >¢Box name=" 1oot Lzt ocalization= § loolllp‘ 0ol box of

Choregraphe&apos;s behavior, Highest level possible v="0"><{bimapymedia/images/box/roo}. png</ 2
biimap>{scripl language— 4 )(conient)('ICDATA[I3></cnntent></scr1pt><1npul name=" onLoad’ lype="1 " ivpe_size="1

nature="0" inner="1" Looltip="Signal sent when diagram is loaded.” id="1" /»{Inpul name="onStari" (vpe=" 1 :2\
lype_size="1" nature="2" inper="0" tOOlth— Box behavior starts yhen a signal is received on this input.” id="2" /

><Inpui name=" onStop” type="1" lvpe size="1" nalure="3" inner="(’ tooltlp Box behavior stops vhen a signal is
received on this inpui.” id="3" <ﬁuipu1 name- “onStopped” {vpe=" 1 {ype_size="1" nature="1" inner="0" looltip="
Ay 7 ZBehaviorDFE TFIZEB 2325, ° id="4" /><Tineline enable=" (" >{BehaviorLaver
name=" behavior_layer]” ><BehavzurKevframe name- keyframel” index="1"><Diagramy<Box name="Sel Language’ id="2"
localization="8" toollip="Set the language of your robol for the current applicalion. Your robof will speak and
undersiand the selecled language as long as vour applicalion has focus. Any following call to ALSpeechRecognition
(Speech Reco. Dbox for instance), ALTextToSpeech (Say box for imstance) or ALDialog will use (his lansuage &x0A;"
x=" 248" y="23§" \<b1[map}med:a/lmages/box/lnteractton/sav png(/b11map><sc11pl language " 4" >Ccontent><I [CDATA [class
MyClass (GeneraledClass) :

def __init__ (self):

GeneraledClass. __init__ (self, False)

del ?nLoad(self):

IV:
sglr.lts = ALProxy (' ALTex{ToSpeech’)

except:
se}%.{?ggerkwarn('ALTexiToSpeech is not available, language selling cannol be applied lo speech”)
sell. S =.one

1ry:
self. asr = ALProxy (" ALSpeechRecognition”)
excepl:
self. logger. varn (" ALSpeechRecogniiion is noi available, language seliing cannot be applied lo
recognlllon )
self. ast = None

iry:
self. dialog = ALProxy (" ALDialog")

except: g : { : i b
self. logger. varn (" ALDialog is not available, lanzuage selfing camnol be applied {o dialog’)
self. dialog = None

del onlnput_onSel (self) : s

%ang = self. getParameter (' Language”)

ry:
if self. usr: | ;
Fe}f]$sr.selLﬂuguﬂae( self. getParameier ("Language”) )

SEL1. St
. self. lts. seilangnage ( self. geiParameler (Language’) )
if self.dialog:
.. self.dialog. sellanguage ( sell, getParameler ( Language”) )
if self. 11s is None and cell. asr is None and ‘self. dialog is Nome: i

raize RuntimeError ( Cannol sel language: neiiher ALTexiToSpeech nor ALSpeecliRecogniiion nor

—

i

‘ALbialog is available.’

self. onReady ()
excepl:
error = “Language " + |
sell. logger. varn (error)
sell. onError (error) 117</conlent </script><Input name="onLoad” {vpe="1" {ype_size="1" nalure='('
lnner='1 looltip=" Siznal cenl vhen diagram is loaded.” id=" 1" /o<Input name="onSel” {ype="1" ivpe cize="1"
nature="1" inner="{0" toollip="The daia is sel rhcn a signal is received on (his inpul.’ id="2" />Ouiput
name— onkeadv" {vpe="1" {ype_size="1" nature=" inner= alis lGUlllD* Signal sent vhen ihe data has been sef.”
/7<Ouiput name="onError’ {ype="3" (vpe_ °1ZL- 1" ngture="2" inmer="(" fooltip="Error ouipui:£fx04;-
ll]ﬂﬂeruﬁ if (he language asked camnol be sei” id="4" /> Parameler name= " Language’ 1nheriis_fram_parenl='U
conlent_type=" 3" value= Japanese” defenlt_value="English’ cusiom_choice="1" fooliip="Sel (he language (he robof
"Dew]q and unde;*!wnds id="5"><Choice_ value=" Arabic” /- Choice value="Brazilian® /><Cloice value="Chincse” /
»Choice value="Czech” /< Ch01ce value= Danish” /><(hoice value="Duich’ /><Chojce vulue- English” /><Choice
value='Finnich” />(Choice value='French” /><Choice value="German’ /><Choice value=" Greek” /-<Choice
value* Laliay' /<Choice value="Japanese” />(Choice value="Rorean” /»<Choice value="MandarinTaiyan’ /,<Choice
value= Norvegian® /><Choice value="Polish” />Choice value='Portuguese” /»<Choice value="Russian’ L/ Choice
value— Spapish” /-<Chojce leﬂL— swedish” /><Choice value="Turkich” /</ParameierResource name=" Speech’
lype="Lock’ timeoul="0" /></Box.<Box name="Say’ id="4" localization="8" {ool{ip="Say some fexi. The {exi can be
localized.” x="724" y=" 317" ><biimap nedia/images/box/interaction/sav. pned/bilmapy<scripl language="4"> {contenty
[CDATA [import {ime '

"

ang + * camnol be set

‘class MyClacs (GeneraiedClass) :

def __inii__(seld) :

GenerafedClass. _injl__ (sell, False)

self. {15 = ALProxy (' ALTex{ToSpeech’) g P y
sell. iisStop = ALProxy (' ALTex{ToSpeech’, True) #Creaie anoiher proxy as wail is blocking if audiooui is

—

onLoad (self) :
seli. bIsRunnjng = False
self. ids = [

onlnload (self) :
for id in self. ide:
iry:
self. {1eStop. stap (id
excepi:
D“C{‘
vhile ( selfl. bls Runnlng )i
fime. sleep( 0.2)

de

de

by

del onlnpul_cnStart {self) :
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fell'.hIsRunning = True

Iy:
sentence = "¥RSPD="+ sir( self. gelParameter (' Speed (¥)°) ) +'%° )
senlence 1= "¥VCT="+ sir( self. getParameier ('Voice shaping (%)) ) + "%
senience 4= seld. geiParameler (" Text”)
senience += "¥RSTY *
id = self. t1s. post. say{str (sentence))
self. ids. append (id)

o oself. tts wait (id, 0)

finally:

try:
self. ids. remove (id)

excepl :

pass
if( self.ids == [1 ):

self. onSlopped 0 # aclivaie oulput of the box

self. blsRunning = False

def onlnput_onStop (self) : g Pl ; i
self. onlnload 0 11></conien{></scripl><Inpul name="onload" (ype="1" [ype_size="1" nature="(" inner="1

“tooltip='Signal sent when Diagram is loaded.” id="1" />{Inpui name="onStari” type="1" (vpe_size="1" najure="2’

inner="0" {oollip="Box behavior slarls when a signal is received on ihis Input.” id="2" />ZInpul name="onSiop"
type="1" type_size="1" malure="3" inner=' 0" tooltip="Box behavior stops when a signal is received on {his Input.’
id="3" />0uipul name="onSiopped” (vpe="1" (ype_size="1" nafure="1" inner="0" tooltip="Signal sent when Box
behavior is finished.” id="4" />{Parameier name="Voice shaping (%)" inheriis_{rom_pareni="1" conieni_iype="1".
value="100° defaull_value=" 100" min="50" max="150" tool(ip="Used {o modify al runlime the voice feaiure (ione,
speed). In a slighty&dx0A;differeni way than pitch and speed, il gives a kind of &quot;gender or age&ix04;
modification&quot; effecl. 84x0A;&4x04;For insiance, a quile good male derivaiion of female voice can belix0A;
oblained selling this parameier o 78%. &4x0A;&ix0A:Note: For a beiter effecl, you can compensaie {his parameier
with the&ix0A;speed parameter. For example, if vou wani {o decrease by 20% the voicetfx0A4;shaping you will have
to increase by 20% the speed lo keep a consiani&ix0A;average speed.’ 1d="5" /><Parameler name="Speed (%)
inherils_from_paren{="1" conteni_type="1" value="100" default_value="100" min="50" max="200" {ool(ip=' Changes {he
speed of the voice. $4x0A;84x04;Nole: For a beller elffecl, vou can compensate {his parameler wiih {he voicetdx0A;
chaping parameler. For example, if vou wanl {o increase by 20% {he speed, youtdx0A;will have {o decrease by 20%
{he voice shaping lo keep a consianl average&iy0A;speed.” id="6" /»<Parameier name="Text" iuheri{s_{rom_pareni= 0’
conteni_type='h’ value="Hello” defauli_value="" (oollip="The {ex( you want lo say. Donfapos;i forgel to (ranslafe
AU 1d="7 />¢/Box><Link inpuiowner="2" indexofinpui="2" outpulowner="0" indexofoutput="2" /><Link
inpuiowner="4" indexofinpu(="2" outpuiowner="2" indexofouiput="3" /><Link inpulowner="0" indexoflinpui="4"
outputowner="4" indexofoutpui="4" /></Diagram></Behaviorfey{rame></BehaviorLayer;</Timeline;</Box></
ChoregrapheProjecty
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